

Some Conditions on J_S Normal Matrices

K. Jaikumar, Assistant Professor, Department of Mathematics, A. V. C. College (Autonomous),
Mannampandal, Mayiladuthurai-609305, Tamil Nadu, India.

K. Sindhu, Assistant Professor, Department of Mathematics, A. V. C. College (Autonomous),
Mannampandal, Mayiladuthurai-609305, Tamil Nadu, India. sindhukannan12@gmail.com

Abstract A matrix $A \in M_n(C)$ is called J_S - normal if $A^\# A = A A^\#$, where $A^\# = J A^\theta J$, and $J = I_r \oplus -I_{n-r}$ [1]. Here we derived some properties of J_S -normal matrices.

Keywords —Secondary transpose, Conjugate Secondary transpose, J_S - normal matrix, J_S - Symmetric matrix.

I. INTRODUCTION AND PRELIMINARIES

Through this paper we use the following notations.

Notation 1.1 [2,3]. The secondary transpose (Conjugate secondary transpose) of A is defined by $A^S = V A^T V [A^\theta = V A^* V]$, where V is the fixed disjoint permutation matrix within its secondary diagonal.

Notation 1.2. Let $\mathbb{R}$ be the set of all real number, $\mathbb{C}$ be the set of all complex numbers, and $M_n(F)$ be the $n \times n$ matrices over field. Let J_S^n be the set of all $n \times n$, J_S -normal matrices.

II. MAIN RESULTS

Theorem 2.1. Let $A \in J_S^n$, then

- $S^{-1}K = KS^{-1}$ is J_S - normal.
- $K^{-1}S = SK^{-1}$ is J_S - normal.
- $\overline{AS} + SA^\# = 2S\overline{S}$ is J_S - normal.
- $\overline{AK} - KA^\# = 2K\overline{K}$ is J_S - normal.
- $S^{-1}A + A^\#S^{-1} = 2I$ is J_S - normal.
- $K^{-1}A + A^\#K^{-1} = 2I$ is J_S - normal.
- $HK = KH$ is J_S - normal.
- $AH = HA$ is J_S - normal.
- $AH + HA^\# = 2H^2$ is J_S - normal.
- $AK - KA^\# = 2K^2$ is J_S - normal.
- $H^{-1}K = KH^{-1}$ is J_S - normal.
- $HK^{-1} = K^{-1}H$ is J_S - normal.
- $H^{-1}A + A^\#H^{-1} = 2I$ is J_S - normal.
- $K^{-1}A - A^\#K^{-1} = 2I$ is J_S - normal.
- $\overline{SS} - K\overline{K} = AA^\#$ is J_S - normal.

Proof of Condition 1.

$$\begin{aligned} \text{Let } A &= S^{-1} + K \text{ and } A^\# = S^{-1} - K, \text{ so } A^\# A = A A^\# \\ \Leftrightarrow (S^{-1} - K)(S^{-1} + K) &= (S^{-1} + K)(S^{-1} - K) \\ \Leftrightarrow S^{-1}S^{-1} + S^{-1}K - KS^{-1} - KK &= S^{-1}S^{-1} - S^{-1}K + KS^{-1} - KK \\ \Leftrightarrow S^{-1}K - KS^{-1} &= -S^{-1}K + KS^{-1} \\ \Leftrightarrow S^{-1}K + S^{-1}K &= KS^{-1} + KS^{-1} \\ \Leftrightarrow 2S^{-1}K &= 2KS^{-1} \\ \Leftrightarrow S^{-1}K &= KS^{-1} \end{aligned}$$

Proof of Condition 2.

$$\begin{aligned} \text{Let } A &= S^{-1} + K \text{ and } A^\# = S^{-1} - K, \text{ so } A^\# A = A A^\# \\ \Leftrightarrow (S - K^{-1})(S + K^{-1}) &= (S + K^{-1})(S - K^{-1}) \\ \Leftrightarrow SS + SK^{-1} - K^{-1}S - K^{-1}K^{-1} &= SS - SK^{-1} + K^{-1}S - K^{-1}K^{-1} \\ \Leftrightarrow SK^{-1} - K^{-1}S &= -SK^{-1} + K^{-1}S \\ \Leftrightarrow SK^{-1} + SK^{-1} &= K^{-1}S + K^{-1}S \\ \Leftrightarrow 2SK^{-1} &= 2K^{-1}S \\ \Leftrightarrow SK^{-1} &= K^{-1}S \end{aligned}$$

Proof of Condition 3.

$$\begin{aligned} \text{Let } A &= S + K \text{ and } A^\# = S - K, \text{ so } \overline{AS} + SA^\# = 2S\overline{S} \\ \Leftrightarrow (S + K)\overline{S} + S(S - K) &= 2S\overline{S} \\ \Leftrightarrow S\overline{S} + K\overline{S} + SS - SK &= 2S\overline{S} \\ \Leftrightarrow S\overline{S} + K\overline{S} + S\overline{S} - \overline{SK} &= 2S\overline{S} \\ \Leftrightarrow S\overline{S} + K\overline{S} + S\overline{S} - K\overline{S} &= 2S\overline{S} \\ \Leftrightarrow 2S\overline{S} &= 2S\overline{S} \end{aligned}$$

Proof of Condition 4.

$$\text{Let } A = S + K \text{ and } A^\# = S - K, \text{ so } \overline{AK} - KA^\# = 2K\overline{K}$$

$$\begin{aligned} \Leftrightarrow (S+K)\bar{K} - K(S-K) &= 2K\bar{K} \\ \Leftrightarrow S\bar{K} + K\bar{K} - KS + KK &= 2K\bar{K} \\ \Leftrightarrow SK + K\bar{K} - KS + KK &= 2K\bar{K} \\ \Leftrightarrow SK + K\bar{K} - SK + K\bar{K} &= 2K\bar{K} \\ \Leftrightarrow 2K\bar{K} &= 2K\bar{K} \end{aligned}$$

Proof of Condition 5.

$$\begin{aligned} \text{Let } A = S+K \text{ and } A^\# = S-K, \text{ so } S^{-1}A + A^\#S^{-1} &= 2I \\ \Leftrightarrow S^{-1}(S+K) + (S-K)S^{-1} &= 2I \\ \Leftrightarrow S^{-1}S + S^{-1}K + SS^{-1} - KS^{-1} &= 2I \\ \Leftrightarrow S^{-1}S + S^{-1}K + SS^{-1} - S^{-1}K &= 2I \\ \Leftrightarrow 2S^{-1}S &= 2I \\ \Leftrightarrow 2I &= 2I \end{aligned}$$

Proof of Condition 6.

$$\begin{aligned} \text{Let } A = S+K \text{ and } A^\# = S-K, \text{ so } K^{-1}A - A^\#K^{-1} &= 2I \\ \Leftrightarrow K^{-1}(S+K) - (S-K)K^{-1} &= 2I \\ \Leftrightarrow K^{-1}S + K^{-1}K - SK^{-1} + KK^{-1} &= 2I \\ \Leftrightarrow SK^{-1} + K^{-1}K - SK^{-1} + KK^{-1} &= 2I \\ \Leftrightarrow SK^{-1} + KK^{-1} - SK^{-1} + KK^{-1} &= 2I \\ \Leftrightarrow 2KK^{-1} &= 2I \\ \Leftrightarrow 2I &= 2I \end{aligned}$$

Proof of Condition 7.

$$\begin{aligned} \text{Let } A = H+K \text{ and } A^\# = H-K, \text{ so } A^\#A = AA^\# \\ \Leftrightarrow (H-K)(H+K) = (H+K)(H-K) \\ \Leftrightarrow HH + HK - KH - KK = HH - HK + KH - KK \\ \Leftrightarrow HK - KH = -HK + KH \\ \Leftrightarrow HK + HK = KH + KH \\ \Leftrightarrow 2HK = 2KH \\ \Leftrightarrow HK = KH \end{aligned}$$

Proof of Condition 8. Let $A = H+K$ and $A^\# = H-K$, so $A^\#A = AA^\#$. Necessary Condition. By Condition 7:

$$\begin{aligned} \Leftrightarrow AH &= (H+K)H \\ \Leftrightarrow AH &= HH + KH \\ \Leftrightarrow AH &= H(H+K) \\ \Leftrightarrow AH &= HK. \end{aligned}$$

Sufficient Condition.

$$\begin{aligned} \Leftrightarrow AH &= HA \\ \Leftrightarrow (H+K)H &= H(H+K) \\ \Leftrightarrow HH + KH &= HH + HK \\ \Leftrightarrow KH &= HK \\ \Leftrightarrow HK &= KH. \end{aligned}$$

Proof of Condition 9. Let $A = H+K$ and $A^\# = H-K$, so $AH + HA^\# = 2H^2$

$$\begin{aligned} \Leftrightarrow (H+K)H + H(H-K) &= 2H^2 \\ \Leftrightarrow HH + KH + HH - HK &= 2H^2 \\ \Leftrightarrow HH + HK + HH - HK &= 2H^2 \\ \Leftrightarrow 2HH &= 2H^2 \\ \Leftrightarrow 2H^2 &= 2H^2 \end{aligned}$$

Proof of Condition 10. Let $A = H+K$ and $A^\# = H-K$, so $AK - KA^\# = 2K^2$

$$\begin{aligned} \Leftrightarrow (H+K)K - K(H-K) &= 2K^2 \\ \Leftrightarrow HK + KK - KH + KK &= 2K^2 \\ \Leftrightarrow KH + KK - KH + KK &= 2K^2 \\ \Leftrightarrow 2KK &= 2K^2 \\ \Leftrightarrow 2K^2 &= 2K^2 \end{aligned}$$

Proof of Condition 11. Let $A = H^{-1}+K$ and $A^\# = H^{-1}-K$, so $A^\#A = AA^\#$

$$\begin{aligned} \Leftrightarrow (H^{-1}-K)(H^{-1}+K) &= (H^{-1}+K)(H^{-1}-K) \\ \Leftrightarrow H^{-1}H^{-1} + H^{-1}K - KH^{-1} - KK &= H^{-1}H^{-1} - H^{-1}K + KH^{-1} - KK \\ \Leftrightarrow H^{-1}K - KH^{-1} &= -H^{-1}K + KH^{-1} \\ \Leftrightarrow H^{-1}K + H^{-1}K &= KH^{-1} + KH^{-1} \\ \Leftrightarrow 2H^{-1}K &= 2KH^{-1} \\ \Leftrightarrow H^{-1}K &= KH^{-1} \end{aligned}$$

Proof of Condition 12. Let $A = H^{-1}+K$ and $A^\# = H^{-1}-K$, so $A^\#A = AA^\#$

$$\begin{aligned} \Leftrightarrow (H-K^{-1})(H+K^{-1}) &= (H+K^{-1})(H-K^{-1}) \\ \Leftrightarrow HH + HK^{-1} - K^{-1}H - K^{-1}K^{-1} &= HH - HK^{-1} + K^{-1}H - K^{-1}K^{-1} \\ \Leftrightarrow HK^{-1} - K^{-1}H &= -HK^{-1} + K^{-1}H \\ \Leftrightarrow HK^{-1} + HK^{-1} &= K^{-1}H + K^{-1}H \\ \Leftrightarrow 2HK^{-1} &= 2K^{-1}H \\ \Leftrightarrow HK^{-1} &= K^{-1}H \end{aligned}$$

Proof of Condition 13. Let $A = H+K$ and $A^\# = H-K$, so $H^{-1}A + A^\#H^{-1} = 2I$

$$\begin{aligned} \Leftrightarrow H^{-1}(H+K) + (H-K)H^{-1} &= 2I \\ \Leftrightarrow H^{-1}H + H^{-1}K + HH^{-1} - KH^{-1} &= 2I \\ \Leftrightarrow H^{-1}H + H^{-1}K + HH^{-1} - H^{-1}K &= 2I \\ \Leftrightarrow 2H^{-1}H &= 2I \\ \Leftrightarrow 2I &= 2I \end{aligned}$$

Proof of Condition 14. Let $A = H + K$ and $A^\# = H - K$,
so $K^{-1}A - A^\#K^{-1} = 2I$

$$\begin{aligned} \Leftrightarrow K^{-1}(H+K) - (H-K)K^{-1} &= 2I \\ \Leftrightarrow K^{-1}H + K^{-1}K - HK^{-1} + KK^{-1} &= 2I \\ \Leftrightarrow HK^{-1} + K^{-1}K - HK^{-1} + KK^{-1} &= 2I \\ \Leftrightarrow HK^{-1} + KK^{-1} - HK^{-1} + KK^{-1} &= 2I \\ \Leftrightarrow 2KK^{-1} &= 2I \\ \Leftrightarrow 2I &= 2I \end{aligned}$$

Proof of Condition 15. Let $A = \bar{S} + K$ and $A^\# = \bar{S} - K$, so

$$\begin{aligned} S\bar{S} - K\bar{K} &= AA^\#. \text{ Take R.H.S,} \\ \Leftrightarrow AA^\# &= (\bar{S} + K)(\bar{S} - K) \\ \Leftrightarrow AA^\# &= \bar{S}\bar{S} - \bar{S}K + K\bar{S} - KK \\ \Leftrightarrow AA^\# &= \bar{S}\bar{S} - \bar{S}K + \bar{S}K - KK \\ \Leftrightarrow AA^\# &= \bar{S}\bar{S} - KK \\ \Leftrightarrow AA^\# &= S\bar{S} - K\bar{K} \end{aligned}$$

III. CONCLUSION

In this paper, we derived some properties of J_s -Normal matrices.

REFERENCES

- [1] K. Jaikumar, K. Sindhu, On Secondary J-Normal Matrices, International Journal of Scientific Research in Mathematical and Statistical Sciences, 6(2)(2019), 65-72.
- [2] Anna Lee, Secondary Symmetric, skew symmetric and orthogonal matrices, Periodica Mathematica Hungarica, 7(1)(1976), 63-70.
- [3] Anna Lee, On s-symmetric, s-skew symmetric and s-orthogonal matrices, Periodica Mathematica Hungarica, 7(1)(1976), 61-76.
- [4] M. Ghasemi Kamalvand and P. Karimi Beiranvand, J-Conjugate-Normal Matrices. Sarajevo Journal of mathematics . 10(23)(2014),155-160.
- [5] H. Fassbender and Kh.D. Ikramov, Conjugate Normal Matrices A survey, Linear Algebra Appl., 429(2008) , 1425 -1441.